XK= 4

S 1EIJOBH - F4TRIM G D FEHFIRKZ (BT AE)

K 5 4 TR
£ 1%& 28 22H £ 1 #HE 138 245 ~
F—L% 1 2 3 4 5 6 7 5
él mEosz |2 0 1 0 0 3
g soy—x | 2 1 2 1 X 6
£ 1% 28 22H £ 2 #HE 158 095 ~
F—L% 1 2 3 4 5 6 7 E
lél zmuor47—2| 0 0 0 2 2 4
g B — x| 0 4 2 0 X 6
XK= 4 SE1EJOBH - 4T ER A D EFER AR G AH)
K 5 4 R E b/
£ 1% 28 24H £ 1 #HE 1B 005 ~
F—L% 1 2 3 4 5 6 7 B
é BASD 17 | 2 | 12 31
g |BE- b i—RES 0 1 1 2
£ 7FE 28 24H £ 2 HE 138 305 ~
F—L4 1 2 3 4 5 6 7 3
é BELY1X| 3 0 2 5 0 10
g |- sEs]| 1 0 0 0 0 1
X =4 1 [EJOBH - F4TREIM T D EFIRKRE (37T AH)
Kk 5 4 FIngE /N
£ 7 3F 1H £ 1 RS 138 305 ~
F—L% 1 2 3 4 5 6 7 B
lél wEEo1ox | 3 2 1 3 10
7 G R 1 0 0 0 0 1
£ 1% 28 24H £ 2 #HE 158 035 ~
F—L% 1 2 3 4 5 6 7 E
lél R RXS2=7 0 0 0 0 1
g oy —x 2 0 2 1 X 5

XiE LY
148 4759
BHE
(¥) B (B R
(=) BEH O ( ERWL)
(=) B ( E=RWL)
AE g (B R )
168F 4093
BHE
() =R N )
(—) wil (O EEW)
(=) hE ( EEW)
AED FE (N )
Xig  <bY
1285 20493
BHE
(F) A (At )
(—) MR EdR)
(=) T &Ed)
AE  EshEA (X d)
1565 009>
BEHE
(F) KZE (B X)
(=) WA (% ®)
(=) S (% ®E)
AER R (B X))
Xix HEBh
158 004>
BHE
(¥) asE )
(=) BHE  ( RoX)
(=) =2 (o)
A&  0B/OG ( #AE )
168F 309
Y8
(¥) BmEF  ( #&Ed)
(=) ‘&I ( ®AHE )
(=) EA ( ®AHE )
AE T #EdE)



X £ 4% FE1EJOBIR - F4TRIR A D EHFH KRS (B AH)
5 4 R IhFiR X1z
T 7FE 28 24 £ 1 HRE 9B 005 ~ 108§ 305
F—Lf 1 2 3 4 5 6 7 it |EHE
%ﬁé‘:iﬁ’]ﬁ?‘ 4 o] 0| o0 3 7 (B e
pliwes—=x| o | o | 0| 0 1 = we
(=) R
A& Lo
XK= 4 F1EJOBHF - E4TE M A D EFER AR (FTAH)
* 5 4 R Edb/NERR X1z
£ 7% 35 9H £ 1 HRE 14BF 005 ~ 1565 3093
F—L% 1 2 3 4 5 6 7 it |EHE
jﬂiwﬁjmwx 0| 3 | 1 0| 2 | 1 7 (&) tohm
mlamo—snzl 1 | o | o[ o | o[ 2 3 (=) w=
(=) L
AER 5*

(
(
(
(

(
(
(
(

RR
R3]

M )
it )
it )
3t )

ot

Xt

Xt

x4 )
# ®)
MAE )
teEdL )



